
Midterm
Friday, March 17, 2010

Test will cover all material seen to this point. 

1 hour.

Basic topics: 1st and 2nd order coherence.

2-level atom.

Dressed atom theory.

AC Stark dipole force and traps

Bloch Sphere.

Spontaneous emission.

Density matrix and wavefunction Monte Carlo.

Selection rules for M1 and E1 transitions.



Laser CoolingLaser Cooling

1.  Doppler Cooling – optical molasses.

2.  Doppler temperature.

3.  Magneto-optical trap.
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m/s

m/s2 87Rb: δ = -Γ
I = Isat

Vdoppler ~ 10 cm/s

Vrecoil = 6 mm/s
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